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|Essential questions

= What limits the production in ecosystems?

®" How do nutrients move in the ecosystem?

= How does energy move through the ecosystem?




|Ecosystem
= All the organisms in a community plus abiotic

factors

& ecosystems are transformers of enerqgy
& processors of matter

" Ecosystems are self-sustaining
¢ What is needed?

= capture energy
» transfer energy
» cycle nutrients

AP Biology



Ecosystem inputs

Matter cannot
be created or
destroyed

Inputs
" energy
= nutrients

nutrients
can only
cycle
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Nitrogen cycle
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P !abiotic reservoir; !

hOSphOrUS CyC|e = rocks, minerals, soil
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Water cycle
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Transpiration

Remember
Iranspiration?




|Breaking the water cycle

" Deforestation breaks the water cycle

¢ groundwater is not transpired to the
atmosphere, so precipitation is not
created

Bl forest — desert ™ .
desertification ERCSeSs




%7 Repairing the damage

" The Greenbelt Movement
¢ planting trees in Kenya

¢ establishing democracy
¢ empowering women

......

Nobel Peace prize 2004

Wangari Maathai



\Studying ecosystems
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|Effects of deforestation

[

40% increase In runoff | ® 60x loss In nitrogen
¢ loss of water ® 10x loss in calcium

loss Into
surface water

80 L nitrate levels in runoff

o loss out of
41— ecosystem!
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Why is
nitrogen so
important?
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Energy flows through ecosystems
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|Ecological pyramid »
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Humans in food chains

= Dynamics of energy through ecosystems have
Important implications for human populations

¢ how much energy does it take to feed a human?
= If we are meat eaters?
= If we are vegetarian?
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Any
Questions??
We’re working
on a lot

of them ! «f
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